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The more power consuming fan is
2l len FIETe| STHDTY 6T ?

(A) Forced Draught Fan
sUL T sTHEDILL. &sTHDTl.

(B) Gas Recirculation Fan
erfleurmuy og HipHE sTHmmg

(C) Primary Air Fan
PG STHN STHMTY

w Induced Draught Fan

g _viuc L srHGprlL, sTHmmy

(E) Answer not known
eflenL. Qzflwaldens

The leakage of air into the boiler is known as

Qardswas@e srhn sfey eTan avlpsaliupHidng
(A) Airintake (B) Air Leak
arpm 2 L Camerardd srhm &y
Air Ingress ‘ (D) Flue Ingress
ETHN HeNLe] SANT M ALY 3T

(E) Answer not known
eflenL Qzflwaiidrene
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3. The pressure difference between two points in a boiler due to
elevation difference is defined as
o wy Gaupun® argarrons @ Oardsoaid @ra@ ydrals@rsE @ Cw
2 aTeT (WSS GCeumun() eTencu T@T euenTLMISSLILHEDS ?

(A) Pressure Effect (B) Density Effect
(PSS leneTay 2L 5 edlenarey

% Stack Effect (D) Temperature Effect
guLné eeneray ' Qauinflena efleneray

(E) Answer not known
sllen Qgflwuecilcana

4, In Balanced draught system, the induced draught fan overcomes
s flewe sTHGPTLL ewlbd, gremi vt eumyey e NN ergenan
L &HMS ?
(A) Resistance in the air pre heater
g ufadLfe erdliiy
(B) Resistance in the chain grate stoker
Qeuller SGm_ avGLrésfld erdliig
M Draught losses through boiler
Qandlawer epad sTHEHTLL @painseT
(D) All the above

CuGa 2 _drer HemaTsgDd

(E) Answer not known
aflen Qg flweildvane
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The fan located near the base of the chimney is called as

yaasGursduller <iglingduiedr ewpgerer lemeildl arem
APWP&EFLLHEDG
(A) Forced Draught Fan M Induced Draught Fan
slLmy sTHGomLL. il grerLunl L srpGomiL N
(C) Steam Jet Fan (D) Primary Air Fan
frrell Qg el pserenw &THmy eSiE b

(E) Answer not known
eflenL QgfMweilcdena

The formula for mass flow through the chimney is given by
ymaGunadl  euflwms  Qeugsmen Uit sflbater G&GSHTD  ercusummy
sanaS L LB S ng 2

# M=AV.Pg B) M=A/V.Pg
(C) M=V.Pg/A (D) M =A%V.Pg

(E) Answer not known
cllent Ggflwelcrene

Normally the life of Brick (or) Concrete chimney is | high as
—____ years .
Qurgeurs GCemsd wwg LasGursduder puedm sTebd  agsomen
%@T@Em? ' ‘

(A) 20 years (B) 30 years

20 Y &r(hiser 30 ypest(H&er
(C) 40 years . $# 50 years
40 e (H&ET 50 ,eT(HseT

(E) Answer not known
cflen Qsflwaidens
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8. The Pressure difference in the boiler 1s known as

Gardlawaflen Siwss Coupgiim(h erg arat SiPlutiuGEng
(A) Air Flow (B) Flue Gas Flow

STHm gL L LD solEh QUL LU L LD
(C) Mixed Flow M Draught

&L @LULID GUENTEY

" (E) Answer not known
- dllenL GQgflwalidena

9. In coal fired boilers, the pressure draught in passing through fuel

bed does not mainly depends on
fleogsfl efiyb Qandlsedsaie, eafdurmer u@ses eauPurs Csdgibd
SH(PSS umTe (WEEWLDNE eTang FNTHSG @dena ?

(A) Size of the coal
' ﬁsuéaasrﬂuﬁ]m'amm

(B) Amount of the coal
flossf LwaTLHSSULHD SieTey

M Calorific value of coal
Bogafluder aGeamfleads wdliiy

(D) Different kind of coal
Basafluder cuans

(E) Answer not known
alenL Qgflwaldena
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10. Balance Draught is

gwflenay sTHCHTL LD eTaTLIg)
M Forced Draught connected with Induced draught
fangs s1HGHm1L GCsTH Qemenbs sram® sTHGHML 1D

(B) Forced only connected
eng srhHEom L b

(C)  Induced Draft only connected
gram® sTHGCDILLLD

(D) None of these
eTgieyld @eveney

(E) Answer not known
cllenL Qg flwelldeney

11. Throttling calorimeter measures dryness fraction upto -

syredin sGarflbcL it eupc d LgHeanw <leTey&G etellHEpa
(A) 0.68 227 0.98

(C) 0.56 (D) 0.76

(E) Answer not known
aflen Aghwueilcene
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12. How Dryness fraction of steam is defined?
Borefiulier eupl § Gerand ereueumm euarUISHILHE DS ?

(A)

i

©

(D)

(E)

Mass of Dry Steam/Mass of Total Steam— Mass of Dry Steam
2 @i frrellllenr Hlevp/@Qwrggs Brreilulen Hlenp—2 i Brrelulier Hleanm
Mass of Dry Steam/Massof Dry Steam + Mass of Water Vapour
o @i Hlyrefllen Hlenn/2 i Byrefluder Henp+Bareiluldien Heanp
Mass of Total Steam - Mass of Dry Steam |

Mass of Total Steam

Qursgs Borefluder Hlenp — 2 eihg Hirefluier Henp/CArss Hlrmedluier
Hlenm . . . .
Mass of Wet Steam/Mass of Dry Steam
e Blrmeliufien Hlenm/o eisg Hlrmefulen Hlenm

Answer not known
den Qgflwueiome
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13. Which is the following is incorrect about the steam seperator in a
steam boiler? )

Brrell Qandswaller oder Brrel Afouredr udH Gereugpd didanas erg
SeUDTETg) ?

14.

M Steam seperator is provided to collect the water resulting from

(B)

©

(D)

(E)

partial condensation of steam

f,qrraﬁ]uﬁ]m uEd ehsssder dameraurs fag Casflés ;_%urra‘il Al et
puwetuh &g

Steam seperator is also known as steam drier
Brmed Wfltiumer Srrell 2arigd) erenmid SwpESILGEDG

In the steam seperator, steam is made to change 1t’s direction
of flow

Borell Afvurafld, frrel oiger @l Lsdler Hamsw wrhmidng

In the steam seperator, water seperates out from steam due to

it’s greater inertia

E]Uﬁr]rg]ﬂ QA CILmeled 2idl& mpg,;f,]msu SEMERTLONS ﬁﬂﬂ@ﬂuﬁ]@ﬂ@@gj g,msao’r’rr
D3l

Answer not known
aflenL Qgflweilcena

The value of quality or dryness fraction of a substance in a saturated

liguid vapour mixture is
Beopeypm SHreu Brrell swameuuien 2 drer gm Qummetle g,rILD T G\Jﬂ)L.é]
-u@Suller wHly ereusuema?

(A)

©

(®)

0 B) 2
0 2
1 _ | M Between 0 and 1
1 0 wpmw 1 &g @eufle
Answer not known
e Gsflueidama
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15. Degree of super heated steam
W 2 i g eduder @&sHrn

(A) Degree of super heated steam = (tsnp — twet) -
Camenr B@E 2o el = (tsnp — twet)

M Degree of super heated steam = (tenp — ts)
GBEITQWT US]@') 2 GO %Gﬁ = (tsnp - ts)
- (C) Degree of super heated steam = (ts — twes)
- Gamewt W@ 2 @it 6N = (ts — twet)
(D) None of these
aTgleyd @dene

(E) Answer not known
eflen Qaflwelcena

16. Wet steam is
ey horedl eraLig

(A) not mixed with water (B) fully water mixed
gahﬂm?r'r FEQEXTHEN 6L g,aimm"r’r’r (LP(LPERLDLLITENTE)
| M partially mixed with water (D) none of these
urdl siarey gelrentiv Tgeyd @

(E) Answer not known
dilen Qgflueldena
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17. One kilogram of water will be increased

18.

- 19.

volume at dry steam.

times units

@@ HCar Aymd samartiler sear etey zef Brmeiluie @Fsaer bLBIE

25l f&@w.
W 1600 times
1600 vL_r@g
(C) 3000 times
3000 wLmig
(E) Answer not known

eflen GsMwelcena

The colour of the steam is
Brrefludenr Sipw @eucurm @méEhd

(A) White
: GeusirenLo
(C) Light orange
GoT TEHE
(E) Answer not known

 eflenL QgMweSldena

(B) 2500 times
2500 s

(D) 3500 times

3500 wLris,

(B) Light yellow

@er WwEpsar -

Colourless
Howhng

The quality of steam can be find through
Brrefliier grsPamen Qger aumbans sibluemd

(A) Thermometer

QgirGuwmbri

Calorie meter
&Qaomfl Bri

(E) Answer not known
alenL Ggflwalcency

11

(B) Nanometer
CrGrmbL i

(D) None of these
@eupihled erge|bldbana
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°C.

20. Critical temp of water is

getranifen slgen Geuliu ojemay
(A) 375.4
(C) 384.3

(E) Answer not known
cflenL QgMweildensy

°C.

g 374.15

(D) 394.3

21. Tpypical Ash percentage in Indonesian coal is
BiCsrCanaflwisn a;rﬂuS]eu (coal)-é Gugpasa;mrrm smbLuey (Ash) &g,aﬁ]éﬂg;m

-GTGSTGOT?
(A) 38-40
(C) 10-12

(E) Answer not known
eflenL Qgflwefdena

M13—14

(D) 30-35

22. The amount of air required for complete combustion of 1 kg fuel oil

(typical) is?

- 1 kg oulé erflQummenar erés Comeutiu@d eurujefler jeTey eTeueuemay? -

(&) 15.1kg
(C) 13.2kg

(E) Answer not known
cllen Qsflwueaiidana
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23. Impact of Moisture in coal, which will happen if moisture is higher?
Asrflsovalld LweaTLRSSLLEL Hassftie Bfawrer FrLLSD EMmBbSTD
ereueunm efenerey erHUEL ?

24.

A

(B)

(©

»

(E)

increases flue gas temperature
yes Gursdulle QeuaflGuimib, @Lrer aury Qeuiuh ofswrge

high air input
2fswrer arhn CsameuliLBSD

abnormal coal consumption
Passflear Qe ellgswurswmgsed

increases heat loss due to evaporation and superheating of

. vapour .

Qeutiu @iy flson@gsd geamenft Hrrelungn CQurws wHID
Blrreflenw oifle @GLa&@n Guag

Answer not known
eflenL Qzflueiwens

Which fuel having highest moisture?
g erMEummer Bifls mrsseneand CsmTamherarg ?

(A)

()

Imported coal (B) Saw dust
@néEwd denwouc L fleossfl - wrsgrer
Lignite (D) Husk
Naener {Lignite) 218l (Husk)

Answer not known
dllen Agflweidena
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25. When the fuel composition is not known, the air fuel ratio can be

calculated by
erflQurmer sweaen Asflurg Gurg ereueurmy stom erflQummer flssams
sansElLeomb ?

(A) carbon balance method
SiTLe Fblane penn

M carbon — hydrogen balance method
HiTLeT—aman L rmer nflend D

(C) oxygen balance method
p&edlmer sublepey e

- (D) carbon balance method
&Tiuen Fwhlera eparm

(E) Answer not known
eflenL. Azfluaficrene

26. Moisture content in the lignite is
sllsemig e ersgamen sl FIOLSD 2 dTaTg) ?

A) 4% (B) 25%
€ 30% - g 45%

(E) Answer not known
cllent Qgflweldvane

27. Slagging is the deposition of
Slagging ereitug ersem Lgay

w Fly Ash ' (B) Dry Ash
UD&GLD &b 21T FMDLIG

(C) Bottom Ash (D) Water particles

: SPUG LD Fmbued : Bir geflgar .

(E) Answer not known
cllen_ GQsfweiidene
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28. The Gross calorific value of Lignite is kecal/kg.
dsemaryer Gwrss sGamilalbs wdiy

y{ 2500 (B) 4500
(C) 5000 . (D) 6000

(E) Answer not known
aflenL Gl flweiidvene

29. The weight of flue gas is always —— that of fuel burnt.
Sland eumyeilen e eriQumpgb efssiucL aflGQurmelen aeLés,
% More than - (B) Less than

2fsLb GDDEY
(C) Equal (D) Approximate equal
FLoLh Ggrymuwnmes Fow

- (E) Answer not known
eflen @gfwaidena

30. How much oxygen will be required to burn fully the carbon

consisting of 1 kg?
@@ SGar sflenw Wperwns efléEs ereusiere| ysadiner CaameiLbHdng ?

(A 0.67 kg (B) 1.67 kg
0.67 &Ger Symbd 1.67 HGem Hymb
2.67 kg ‘ (D) 3.67 kg
2.67 &SCem Slgmb 3.67 HCam Aymd

(E) Answer not known
allenL Qgfweildene
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31. Major five important elements of fossil fuels
yensLgeu erfldunplaeiien wpadu sbg s misar

M Carbon, Hydrogen, Oxygen, Sulphur and Nitrogen
STTLIET, DL TEmen, péellme, shssb, whHpIb b6
(B) Calcium, Sodium, Carbon, Oxygen and Nitrogen
sroflub, Camgwib, srirueT, <y &alflemer, HNIL @BLTR6
(C) Sodium, Carbon, Oxygen, Sulfur and Nitrogen
Gamgwid, sriue, égbésenﬂgsiﬂ, &bHS&D, WHOID mgbl;ggsirr
(D) Carbon, Hydrogen, Oxygen, Sulfur and Calcium
&iLIeh, el Fe, apdetlnedt, sEss0, LHMID &b

(E) Answer not known
eflenL Qgflwaidrena

32. Biomass is produced from solar energy by
eped G hpelld @Emeg 2 udfl 2 pusdl dewutiu@dpg.

(A) Respiration (B) Photons
SEUTFLD ceOLITL_L_NE&ET

M Photosynthesis . (D) Carbon dioxide
pefll&FCoisans SNTLET L &Haman(H

(E) Answer not known
elenL Qzflwelcene

33. LPG is predominant mixture of
SpsarLeupmeT @& eh ere.19.8) e paflu swaneuTE D

(A) Methane and propylene (B) Propane and Methane
BsCsem whmin LGrmIeSes yGrmGuesr whmid BFCHem

M Propane and Butane (D) Methane and Ethane
yGrrGuer whmb 9wl Ges B&Csen whpibd FECHen

(E) Answer not known
allenL Qghiweldena
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34. The minimum temperature at which a substance will burn is known

35.

as
@® Qummer erfluyb Gambs_es Qeutiuflee erar MutLBaug

(A) Flash point (B) Fire temperature
Sslflermrmeiy LimuSlegri § GQauiufleney

M Ignition temperature (D) Heating temperature
upmereulil Geuliiflene Geutiuepl B Qeutiublena

(E) Answer not known
eflen @gfwelidencn

Biomass is consider as

2 ufiwiusar (Blomass) ———— eueriigarts smaliuGEDs.

(A) Non-renewable source of energy
HEINW6ES ApRung pHned

(B) Conventional source of energy
erilegudlen aupESLIRT YEMTID

% Renewable source of energy

| HELAESE558 QDDD RSTID
(D) All the above

CuCo 2 éter jenangsib

(E) Answer not known
eflen QsMweiidana
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36. Hard coke is produced by carbonisation of coal at

Slg KTLDTET F&M

swumfasLuEDg.
(A) Atmospheric Temperature

cuafl el Geutinflane

(C) 700-850°C
700-850° Qadélwich

(E) Answer not known
eilenL Gaflwelrene

Blevda Muldledl mBba

SpseT Qeutiuflaneoufied

(B) 500-600°C
500-600° Qeodfwiav

& 950-1100°C

950-1100° Qevdwshy

37. 1 kg of carbon produces following quantity of CO

@  Hlwr  Hgmbd  eTeysTer
Curemmsameven QevaflulliHid s, .
(A) 1kg

2 T3k

(F) Answer not known
e Azflueideana

sTTUST  SpsEeTL

SleTellédd &miLetr

(B) 11/3 ke

(D) 3/7 kg

38. Coal particies proper size in fluidized bed boiler

FBC asrgsavaie nwaru@ssuubn fossfliar sfiwurear oere| eremug

(A) ‘ 25-75 mm

M <10 mm

(E) Answer not known
edlenL Ggfweildena
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39. Orsat apparatus is used to determine the

(1) Percentage of COgz, Oz and CO by volume in flue gas

(i) Percentage of COz, Oz and CO by weight in flue gases.

(ii1) COz in flue gases.

Rirer’ &mel @smens s Hwul LweaTLRSDE.

() esmuaeL  gsoev®d, phedlgear  wHmb  sriudr  Geumdlen
eparhdlen Qanararellen ssaisdansd s M.

(1) smiua@L s@ed, sellmar LOHNDL &TTUT Qeaubdlen BiaTD
srpher Hevpuier sseigsamss semHiu

(i) sempsTHiid 2 drar STTLE i &ML SaubslL

W () only " (B) () and (iii) only
(1) wLEHb (1) wHmb (111) I Hibd
(C) () and (i) only (D) (ii) and (iii) only
(1) HYID (11) o {Hib . (11) HID {ii1) w @b

(E) Answer not known
eflenL Qzflwaidena

40. The combustible parts of fuel is
erfldummefiey erfluig sniquwr LuTsRsET fremug)

(A) Nitrogen, Ash M Carbon, Sulphur
@BLIREN, FrbLd &, &HSaHb

(C) Carbon-di-oxide : (D) Carbon mono oxide -
ST - 6L - B &Eenav (H smiruer Curermsamen

(E) Answer not known
fen Qgflweildana
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41. 'The general size of the man hole in a boiler is
Qerdlseweilss GCurgieuns waflls mewardaer oaraurergy @eieummy

e (pih.
(A) 20cm x 10cm M40cmx300m
20 Q&8 X 10 Q&.8 40 Q&5 X 30 Q&8
(C) 50cm x 30 cm (D) 30 em x 40 cm
50 Q&8 X 30 Qg.15 30 Q&5 X 40 Qg.8

(E) Answer not known
ellenL Qzflwieidvena

42. The number of mountings fitted on the top drum
Cue Qamiuapuia 2 drar Qurmsstisaiicn aanmalsmas

A 3 (B) 5

C) 2 | : 4

(E) Answer not known
aflen QgMwefdena

. 43. In a Boiler generally man hole will be in a shape of
Qardlsealld Qurgeuns walls mewaumid @bs ey asHd @@a;@m

(A) Square shape (B) Round shape
&G @llg&uLd QI @llgelld

M Oval shape (D) Rectangular shape
L Gligaud QlFeueus Guigeuld

(E) Answer not known
cflen Gzflueidvena
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44. The fusible plug in small boilers is located
APlu cuens Qardaveansatld 2 (H@ AMLLILTETEET 6TThIE UMb ETATG) ?

(A) Inthe drum
gTb uESuid

(B) In the fire tubes
SeH@SLPTL LiGdludled

(C) Above steam dome
Byredl Qartiueampuder G

m Over the combustion chamber

erflyd Qamiuempulier Goe

" (E) Answer not known
eflenL Qgflweldene

45. This type of valve is not suitable for reducing.the flow
’ PLLSNSS GODULSHE Qeieuins aumea] hns a6

M Gate valve (B) Globe valve
Cal eumeay &Gemm sumebay
(C) Feed valve (D) None of these
QEQIFg M6y _ @eupidled ergiaufldbana
(E) Answer not known
eflenL Qghweildency

46. Mobrey switch works based on
: SLHUUBSSHID sl & Qgen SiyliumLwid Coume Qewuidmg.

W bimetallic strip . (B) valves
o Cans gramh GUITELG S ET
(C) sensor (D) limit switch
safluurer ' auriby &l &

(E) Answer not known
aflen QgMweficdana
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47. Name the test used to test the plugs in laboratory
SUassde smliurasamer UAGsTH&ED Cergameanliar Guwi

#C blow out

CeuafiCGu 2ard

(C) meltout
QeuaflCu 2 Bl

(E) Answer not known
cflenL. Gzfweldenc

(B) blow in

2 arGar 2ard)

(D) meltin
2 &rCer 2 (md)

~ 48. A flow in which density does not remain constant during flow is
Aeaumsunar gU L o, @l_l_g,ﬁm DL TGS ﬁlmevu_nrra; @@uu,ﬁmmm

(A) Linear flow
Gpir g1t

(C) Non linear flow
Coir @éreons gl L Lb

(E) Answer not known
Men Qzflwelcwena

M Compressible flow

S(P5S @LLID

(D) Laminar flow
Caflermi gL L b

49. In water level indicator the lower space and upper space fixed in

sawrentt L wmefluder
Q@arsslul g HEG0 UGS

(A) Steam, Water
Byred, serentir

M Water, Steam
g,mraﬁrr Bymeil

(E) Answer not known
eflen Ggflwaidene
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whpgn  Cudgeear  papGu

(B) Water, Water
Sairant, GeTentir

(D) Steam, Steam
_f}l}rreﬁ], el



50. The value of density of water is
Biler i rsHuller wliy

(A) 2 gm/cm3 . (B) 1 gm/cm? .
2 fgmb/Glg.S 1 flgmb/Qs.8
1 gm/cm3 (D) 2 gm/cm?
1 Hgmb/Qe.8° 2 Hyrbd/Qes.8°

(E) Answer not known
eflen Agflweilcrena

51. The pressure at any point in a fluid is defined as
T em Sraugder aps yaralligih 2ipssh Geieumy cuerumsELURSDS.

% force per unit area (B) density per unit area
@@ Wl elens @ weaill sLigs

(C) viscosity per unit area (D) velocity per unit area
@ well. umEGSHenants @ well Geusb ‘

(E) Answer not known
aflen Agilweldens
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52. In a steam pressure gauge the function of ‘U’ tube syphon
Brrell sipss wrefllbe U eaugeu Syphon-en Geuamen
(A) Protect the pressure gauge from the direct steam
Brmedl  Gprgwns S(pss wreNsEGhn EaWhs s UTdssnsig
UTSIET&EH DS
(B) Always water filled with ‘U’ tube
U’ eugeus Gmlayer ereu@Qumupgind B Hlyb@ulmé@Ln .

@ (A and (B) correct
(A) womw (B) &M

(D) (A).correct (B) false .
A) &R, (B) seumy

(E) Answer not known
Men Gsflweldena

53. The safety valve at superheater as compared to drum safety valve
setting is set at
WBlenas GHOLOPMUA &Ml eurde| eremug Lo &My  eumdelener
@UlbEb CGurg Geueurny Qe iy GeuwiuubhEpg.

(A) Higher value ' M Lower value
2 Sl &onhs wE e

(C) Same value (D) None of the above
gwmar wdned ‘ Cuwphaet eagialb @dama

(E) Answer not known
aflenL Cgiflwefdena

451-Boiler Attendant 24



54. The safety valve in a Boiler mountings is

Qandlaeer Qummss snsarsHe amiiy eurdaliem Liwier
(1) Complete control of steam generation process

el 2 pusd Qeuaweapau wapwrs sl HruHSH
(1) It fixed indirectly in steam space

@g Brredu LEHuded weapapsrs QUITBSSLILL I (HEED
(111) To ensure the safety operation in Boiler

Qandasewen ungisTiumea @Qussgdanen 2 nflliLihssdns
(1iv) None of the above

Cupsamaupdle agedlome

(A) (1) and (1) only (B) (1) andl(iii) only

() wpmo () vrey (i) womw (1) wr G
@’ () and (i) only (D) (iv) only
(1) wombd (111) wi Eid | (1v) @b

(E) Answer not known °
allen Ggfweildwene
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55. The application of feed check valve in the Boiler is
Qsréswafie Feed check valve -ar uanfl eremugy

o

(B)
©)
(D)

(E)

To feed and control the flow of water from feed pump to the
Boiler

Feed un@aimpg cumbd sanafeny QandswensE Qar@asen, Bfler
PLLSnSE: s (huuhsseyhd

Act as return valve in the boiler

Qandswaiad@pig Bir Hrwd aur 2 sadng

To feed the Air in the boiler '

Qandawas@en sthmps CFmsiL 2 sa1dng

To feed the fuel supply in the boiler

Qandsaaus@en erfldummeners Qegusd 2 sa dlmg

Answer not known
alenL Qgflwelieranay

56. Spring loaded pop safety valve should open
eul@fie Gam umrt urgsmiy eumree| @euaury GewduiHind

A
(©)
(D)

(K)

Slow and partially
Qgeurs HMID UGHLTE EHn&Eh

Quick and fully
eflepyeuns WHMID APEPENLLLINTES SHDEELD

Gradual opening
fyna Hpé&@b

None of these
@eupdled ergieyd @eane

Answer not known
e Qaflwualdana
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57.

58.

In spring loaded pop safety valve the process 1s used to
open the valve and control the blow down quantity

evl@fie Gaom L urd eundey apuewwns HptughHEw GeusflusHoliu@id
sjerellenans & HUBSSHUSDEGSD Qe wpan

(A) Opening & Guidering
Fpgged auflam_(Hb el
(C) Levelling (D) None of these
Ut b QEige ' Tgielh @dama
(E) Answer not known
clenL QgRueideana

List out this 1s not a mounting of a Boiler

@aupfled arg Cardlswaiia GLTBSHEST Db eTamLMS &L iy SSTL(H
(A) Blow of Coke

' Geuaflwahmid @pmi

(B) Feed check valve
Qegnsgl. GCengepan eumeey

M Economiser

feasens see
(D) Fusible plug

2 (h&S BienL LI

(E). Answer not known
eflenL Qgflwelildrensy
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59. The safety valve releases quantity of steam in the

atmosphere.
LUMG&MIL  eurebey searey  Brrefleow  Oardlsweiadmhgl
cuetlwarresdn@ QeualCubndpg.
(A) Less @( More
@D TeT 2iflsren
(C) VeryLess (D) None of these
W&& &enmeumer @eupded ergieyflchancy

(E) Answer not known
allenL @gilwellerena

60. In a Boiler safety valve lever, the pivots are fixed with

Qardawar ungemiy eurdele deufsalld o drer pivot seflanr pavansar
@audPlédr QuTBSSLILIL 1 (H&EGLD

(A) Pin and Dropping " (B) Bolt and Nut
perd] WHOID & HSD Gumrél whmib B
M Pin and Forging (D) None of these
sarfl HMID 2 (HES @eupiied ergia|lldene

(E) . Answer not known
dilenL Gsfluaidana
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61.

62.

How can boiler efficiency be improved?

 Garflsedar Aswadpaer aeuairny GubuBssad ?

(A) Increase combustion air
erilliy smhenm HiFafaseyb

(B) Decrease excess air
SFslug e STHD &MDESa|LD

(C) Optimize fuel / Air ratio '
efGummer / arhn Ndlssms @mmu@gg}gm

g All of the above
CuGe o drer enansgbd.

(E) Answer not known
er AgsRwefdena

‘The following is not the part of supercritical boiler

Gemeu(heuameupmIeT oTg @GUuT Sl yadr dardlsoaller Lugd dw.

(A) Economiser (B) Super heater
CTEETTE DT GUUT @b LT

(C) Reheater M Evaporator
e L ' < wingd

(E) Answer not known
eflen Qgflweildene
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63. are the constituents in fuel that produces dry flue gas.

D (HEUM&ELD.

(A) Carbon and Oxygen
STTLIGH WHDID el gerr

(C) Nitrogen and Sulphur
BTG WHDID FOUIT

(E) Answer not known
elenL Qgflwaidena

ety eriiQumpefldd 2 rem SmmSET 2 @I HUER  GUMLENE

M Carbon and Sulphur

&MTLIGT WHMID FeLT

(D) Carb.on and Nitrogen

STTUGHT WDHOID MEL[ER6hT

64. What is the effect of fuel moisture on unburnt Carbon loss?
eflssuuLng sriuer @ondld erflQumger mrsHen eflenara, eraber ?

M Increases Loss
@uueu sidshsdpg
.(C) No Impact‘
urdliy @edena

(E) Answer not known
dilenL. QgNwueldhene

65. The heat loss due to unburnt fuel

avolded in case of solid fuel.

(B) Decreases Loss

@ggl;_lamu Gon&EEng

(D) Depends on Fuel

erfldummeners smibsg!

be completely

erfldsiiue g erflQumggemme FHUED @euLiu @Quq .3 arﬂ@un@aﬂm

WwHOlwrs selissiuL.

(A) Can
Pigud
(©) May
(P g WG D

(E) Answer not known
“eflenL Qgfluelicdena
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66. What material can be used to reduce radiation losses?

67.

Gautiu sflteiss Quieu @Geapss Gandswalld aptsss CQuTHLEmer
LweTuRSSemb ?

. (A) Refractory materials (B) Insulating materials
fsstigréLf Qum@plger @anaGarl g Quimmr_ser
¢ Both (A) and (B) (D) None of the above
(A) wppw (B) Qrean@n Cula o dter argiayb Gd@e

(E) Answer not known
adler Ggflwailcbane

660 MW Power Plant is installed with : type of Boiler.
660 Gwatewr’ Wear 2pusd Qeawuyd Howwbd SpssHT_eubneT b
Qardlawen auemsam sribss ?

(A) FBC Boiler M Super Critical Boiler
' - FBC Qanflswan - ' . GUUi ANy s6r Qardaswen
(C) Sub Critical Boiler (D) Packed Boiler
gu1 Sl g sdr Qardlae Gué Qeuwuul L Gardlseer

(E) Answer not known
sl Qeflweidme
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68. What is the expansion of SCAPH in thermal power plant?
<ianed Benflaaugdd o drar SCAPH eraruger elifleunssn erener?
W Steam Coil Air Pre heater
Byrell smer anpm (e GGLHH
(B) Steam Condenser Air Pre heater
Boredl Gmsd snpp et GGLHID

(C) Steam Coil Air Post Heater
ol smer snpm Wer &GELHM

(D) Steam Condenser Air Post Heater
© Borefl gmisd srpm Qe &CLpdl -

(E) Answer not known
sflenL Gsflweiicvana

69.  The percentage range of Dry Flue Gas loss is about
& @it Selieh eumy @upliber sgelis eurby ST

P 4% -5% (B) 10% — 12%
(C) 15%—17% (D) 20% — 25%

(E) Answer not known
allen Ggflwuealdane

70. The outlet temperature of Air—preheater gas in Thermal Power

Plant is in the order of ————°C

sadflanfleaawgde  gr—ofadi fear  eary  QeuefiCumd G sden
- Qaniuflenes ——— °C aullanaufehr 2 ereng .

(A) 100°C (B) 110°C

@’ 130°C (D) 150°C

(E) Answer not known
aflenL Qzflweildene
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71.

72.

How to calculate boiler efficiency?

Epsar_eupmier Qardawer Qeuwdper aaeurny samsd LU Eng ?

(A) Steam Generation/Steam Consumption

Brredl 2 meunsaib/Brmefl misiey

(B) Steam Generation/Fuel Consumption
Brmedl o (peunsaih/erlUunmar misrey

Q@( Heat in Steam Output/Heat in Fuel Input

Bomell Qeueflui Lé Qeutiub/erf@Qumper 2 erafi L6 Gmuum

(D) Heat Input/Heat Output

Qeutiu 2 araf®/Qeudiu Qeuaflui

(E) Answer not known
alen Gsflweidena

Heat Recovery equipment of Boiler is considered as

factor on which Boiler/Depends Efficiency

Qardswafler Geulin B L s@med

Qarflawen Cewddper gribg 2 drarg ?

(A) Variable Factor

M Fixed Factor

Bleveowiren smyewt]

(E) Answer not known
aenL Gz fweicenen

33

sryepilwunsg srsuubhdng, @&

(B) Common Factor
Glurrgua.lrreur a;rrgamﬂ

(D) Mixed Factor
&Ly sryent]
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73. If the boiler, economizer and super heater are consider as single |

unit, their boiler efficiency is termed as

of the boiler

plant.

Qasnfawar, aaammewsT WHM @GUul ablLi pdHumea @HoD ASTHS
smaLILLLI®, Qerdaadt Hper CAsrdswear peaouiley ——  oTal
SienpsaluBiEng.

(A) Net Efficiency
Blay Qewdglmer
M Overall Efficiency
- @l @Cwrss QFwuddper
(E) Answer not known
eflen Qgflwelldvana

(B) Thermal Efficiency

Qeutin ewddmen

(D) Master Efficiency

wrev i Qewddmper

74. Steam to fuel ratio for oil fired boilers typical values are?

Byoedl whmibd aAQurmer s e fired GQardseafiey cupsswrar

D{ETTE&ET GTEHTERT ?
(A) 4.0-5.5
C) 8-10

(E) Answer not known
cllenL. Ggflwelldsena

(B) 15-20

F# 135145

75. Indian standard for Boiler Efficiency calculation is
' Epaseamcubhiuer ergy Qasrdawer Hpen samrasiligharer GpHu srHleea s ?

P 188753

(C) IS10496

(E) Answer not known
aflen GzMwisicoana
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76. Direct method of Boiler Efficiency calculation involves
Gemaumeuareupmier erhs Chry perp @&SArses uwauiss Qasrdaswaflen
Spen (ersafluenadl) semsdl iU Hpg 2
(A) Heat Loss Method

Geuliu @puy wpep
M Input-Output Method
2 drat(® GeualliLh e

(C) Fuel Calorific Value Method
eflQummeiier aGamfss94 wdliy (y)mm
(D) Air Fuel Ratio Method
srom erMQummer clfgn wearn

(E) Answer not known
eflenL Qsflweldrensy

77. Which one of the following has a high specific Gravity?
DereupeuanaupPed orgy wifls AL Fily alemeamwu Cararberarg ?

(A) Furnace oil (B) HSD
2 e eTaiTllaRTI T . GTE. Ig-
(C) Kerosene M Water
e erTehTC e - . Seirentir

(E) Answer not known
cllewL Qsflweldane

78. Presence of sulphur in Boiler Fuel leads to

aNQurmefler spsssder @muy Qardlswaflar —— eaufleu@sdng.

@0 Corrosion (B) Erosion |
Gaufuwicd oMy Bupdy iy

(C) Low heat transfer (D) None of the above
@&dphs Qeutiu uflwrHmid CuwGe o drer ergieyth @dena

(E) Answer not known
cflenL Ggflwsildrens
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79. In a coal fired boiler, which parameter mostly influences flame

profile?
Blodstl eaflyb dardasaaiiv arbs ojerem Cu@mbLTGID &Ly UTdlsdng 2
(A) Fixed Carbon M Volatile Matter
Hleneowirar amiuiesr S efwmgbd Gum@mar
(C) Hydrogen (D) All of the above
G L_TE 6 _ GuwGe 2 dreT Diwarsgd

- (E) Answer not known
eflanL Qgflueidana

80. High percentage‘of carbon monoxide presence in the flue gas of
boiler is an indicator of
Qandlamaien slien eumyeild srinear Cuoramsamsl @@mLUE —— &
2dl@Hun@Ld.
(A) High Excess Air
Bl flslitgurer smhm
(B) Complete Combustion
Wpperwwres ey

(C) Good Control of Pollutants
: wralinpsdaaier oo sLGLUTH
M Low Excess Air

G@DHS SSHSVLgUTET STHD)

it

(E) Answer not known
aflen Qgfweiidana
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81. Hardness of water 1s due to the presence of salts of
Qeueuems 2.0y geatenw odter  Qummerted  samentfles sy arSsareno

32.

sreTliuhiEng)

(A) Potassium (B) Chlorine
Qum_Lrflwib &Germfle

M Magnesium (D) Boron
Quéatffluib

‘(E) Answer not known
- dlent. Usflwelldane

TDS refers to concentration of
TDS eréirug o1 Qafleveus GMsSna) ?
(A) Non soluble solids in water
Biles sepgurg HuQumslser
Dissolved solids in water
B sarns S G@urmmlser
(C) Semi solved solids in water
Bild ey saybs HLDCummL s
(D) Impurities in water
. SETETNED D_ETET BHFHBHBISET

(E) Answer not known
elenL Ggflueiidene

37
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83. The measurement of turbidity in water is
Bifled 2 drer Qambseflinler siameih eremer?

(A) mg/l (B) gl
mg/1 g/l
M NTU or FTU (D) BTU

NTU wiaeg FTU BTU

(E) Answer not known
fen Gsflweldene

84. - The pressure applied in RO process is known as
RO Qsweunige Qeudu@ssuiubid Sipssh eeleuny iPluiu@ib ?

(A) Hydro pneumatic pressure M Osmotic pressure

B umy Di(pSSD FeuapBHureue
(&) Idle pressure | : (D) Gravitational pressure
Qaupm SIPSSLD C - yelllruLY SipSsd

(E) Answer not known
eflenL Ggflweildama
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85. Every RO system i1s equipped with to prevent
suspended matter from entering the system.

86.

87.

.

(E)

RO  weawvuled somppgdaa saflomseer  shuushE — @bapen
SiWw&ESLULHA D).
(A) High pressure pump
o WIT SIS LIl
(B) Cartridge filters
: sTC Al ey s ig&Ger
(C) Membrane
FGHGY

Cartridge filters before high pressure pump
2 Wi Si(Wss UbADG weensns srilfgy sl yadr

Answer not known
eflen Agflweildana

"TDS in boilers can be controlled b'y

Qardsaaie TDS eaaeunm a;L@Uu@;_’r,gUu@ngj?

(A)
(©)

(E)

UV radiation is shorter than

Adding feed water Qf Blow down water
oan L b Gartiugmed Bir £Cp sHmEUSTOD
Adding soft water (D) Adding raw water
Querenwwiren Bir Garuugred ‘ epar Bir Garliugme

Answer not known
Men Gsfwefdeama

nanometre wavelength.

4p oagn sflreiss @eieuata) préarmbt L Samabarsdh@h @ampeurarg

A)
(€)

E)

200 (B) 100

150 & 400

Answer not known
eflenL Qaflwueildane
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88. Ultra filtration is a
Saily euys_HFD eTaTLIg)

W Cross flow low pressure process
GRIES LD GODHS Apss Baudpep
(B) Cross flow high pressure process
GNI&EG UL 86 (WS dewsapenD
(C) Straight flow low pressure process
Cpit @ULb GODHS B(Wds Geudipe
(D) Straight flow high pressure process
il @l_l_m 28ls 2158 Q&u_xsv(g)mm

(E) Answer not known
adenL Qgflweldane

~89. Salt rejection is defined as
2 11y Hyrsfiy @eueumy mmnmy&&uu@aﬁ]m@

(A) 1+ Salt passage (B) 1 x Salt passage
(C) 1/ Salt passage m 1 - Salt passage

(E) Answer not known
e Qzflueidana

90. The membrane based separation process was established in the year
sgeuey sigliuewteores WAty  GCewdgep eaugy @Fs  weETH

Blmeuric_Lg
(A) 1950’s (B) 1990’s
Y 1960’s | (D) 1980’s

(E) Answer not known
e GsMwieiicdens
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91. Thumb rule for calculating osmotic pressure of raw water

92.

Bfler o avCurgs dWpsssmss sansdlhHeugharar Gung afd)

(A) Feed TDS x 0.1 ¥ Feed TDS x 0.01
(C) Feed TDS x 0.02 (D) Feed TDS x 0.2
(E) Answer not known

cflenL. Ggfweierand

An ‘increase in the conductivity of the water inside the boiler
indicates a rise in

Qesrdewaus@da o dren saartilar sL_sgsdpen dflsoreug ahs 6T
Iflawreugrs 2 amissflns) ’ ’

(A) Purity (B) Temperature
giiento Qautiublenco

M Contamination (D) Pressure
Fniew&CER : SA(WPSSD

(E) Answer not known
cflen Qzflweilcreney
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93. An increase in boiler pressure results in what effect on the boiling
point temperature of water?
Qasrdsoafldr  Sissd aPsfégnd  Qumupg, saratfar  Gsrdbleae
GTGATEBTGL M(FHLD ?
(A) Decrease
G®DULD

W Increase

T R EAC T

(C) Sharp decrease, then gradually increasing
2 L @Tgwing @&emphgl wgeuns Hdailsgh

(D) No effect on temperature,
Qeutinflenauiled erbg LIHOHAPL B(HESTS)

(E) Answer not known
dflenL Qzfluaidena

94. A condenser where circulating water flows through tubes which are
surrounded by steam i1s known as
GuniEger  sarafi  Gedgd  Geueliypgder  Brmel  @wBHHSED
BlerCaadlufen Guwi

¥ Surface condenser | (B) Jet condenser
Guhuriy WenGssd Qm BleTCsas)

(C) Barometric condenser (D) Evaporative condenser
unGrr@wl_fé WarGasd eraumuGriigeu WenGssd

(E) Answer not known
clenL Ggflwelevens

451-Boiler Attendant 42



95.

96.

Scale formed on heat transfer surfaces when
Qeusu uflwrdm Gupuride eu@urpg Csflamssnd Hswns @) HE@ED
(A) Water 1s acidic
semantii Sl gearawwins BméGbOunys
(B) Water 1s alkaline
gaiment &MySSETLWING @(H&EHLAUTYS
(C) Water contains dissolved gases
sametiled sarhs eumysser @meELAUTWS
% Water contains dissolved calcium and magnesium salts
- pamentile senghs sreflwd wHpb Ausefflub 2 Ly GEmEELAuN WS

(E) Answer not known
ellenL Qgflwuafcena

The hardness is removed from the water by a process known as
EReSl(mbg sy enssearann Baslu@b Gewudipann B - TR T
(A) 1on exchange .

<sjweafll uflbrHon
(B) negative ion exchange

erdlifwenp siwed uflwrhpb
M positive ion exchange

Criwenn wefl LiflwrHmbd
(D) negative and positive ion exchange

adinoepn whHmbd Crivep <jwefl uflbrHobd

(E) Answer not known
eflenL Qgflwefdena
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97. Choose the correct answer which is causing temporary hardness
spardls syamssaremwau gHuBSHsOD SpsaTiaupdled sflurer udows

CsiibQsH &6, b.

(A) Magnesium chloride (B) Calcium sulphate
Gusaidluw GGaray® sToflud FoGul

(C) Carbon dioxide & Magnesium bicarbonate
STTLIGT L g &ana() Quéatdlwub eu srituGer

(E) Answer not known
eflen GgAlwelldvene

98. Choose the best one used to control carbon dioxide corrosion in
condensate line
B Borell  @wruseidr smiudt oL see® flueus sSLEUUESSL
LweTURSSLUBL Hpps eatep Cambldshssab.

(A) Cyclohexylamine . (B) Sodium phosphate.
angsGerrans s ewenLosr Gamguwib urevGur.
(C) Rock salt 1 Morpholine
urenD 2 Uiy wriGumedesr

(E) Answer not known
eflen Qs flwelicveney

99. Copper and brass corrosion is termed as
Ceby wppbd Wssemer @ fliy erdueunm Diepssliubi&ng

(A) Hydrochemical corrosion (B) Hydroelectrical corrosion
Bir Goudludwish ifliiy B et ofliy

% Electrochemical corrosion (D) Electronical corrosion
BlenGauguiwer ity (Blesreram <MLy

(E) Answer not known
eflenL Qgflwaeldrency
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100. Hardness in feed water is the result of
Qandlawen oo L Bilé siqarssanend Wemeuhid ereupdlen eflenareur@id ?

(A) Presence of oxygen and carbon dioxide
&0l s6s LDOID ST el Y EFRH

(B) Presence of sulphur and hydrogen
SH&SD WOMID QDL TER6H

(C) Presence of copper and silica
Qe whmid Helsar

M Presence of calcium and magnesium
sraflub whmb Gwsafdlun

(E) Answer not known
alen QgMwelldwana

101. The material used to control SOz emissions in combustion boilers is
arflgyr L i@ Qsrdaweafledr SOz 2 flpenes shH&ED QuTBer

(A) CaO W Lime stone
CaO FITEAMDL| Hed

(C) Silica ' ~ (D) Sand
HeblsaEm LDGRTED

(E) Answer not known
eflenL Qzfluefoene

45 451-Boiler Attendant
[Turn over



102. Water treatment is highly required in
sewrantit asfafliy Wesab Caameuliu@id Qardaaes
(A) Fire tube boilers
& uni Gardaeoe

&5 Water tube boilers
sesmrentt @mi CaTdaaver
(C) Both fire tube and water tube boilers
& @MU wHmib Sesrentt Gl dardseer
(D) All the above

GuGer 2 drar Henandgid -

(E) Answer not known
ellen Ggfweildana

103. The fusible plug in small boilers is located
Al cUBNG Qandlawefe 2 (h&&dnlq LI Qerd
QurmSSOILIL g (H&E LD
(A) Inthe drum

iy
(B) In the fire tubes
& epmu
M Over the combustion chamber
erflliy enmd@ G vl
(D) At the inlet of chimney
yos Gursdlullen o erbladaib @L b

(E) Answer not known
cllen Qaflwelldane
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104. The device used for preventing explosions due to excessive internal
pressure of steam is called
Qsrfsagssear Brreiluler oifls SiPssh stramors Qegly ghubems
SH&GD Frgand

P

©)

(E)

Safety valve | (B) Water level indicator
UMGISMUIL eumeday Bir Hlevey smiig
Pressure gauge (D) Fusible plug

SU(WPSSD 6Tl ' 2 (h&&EF W 1N6ns

Answer not known
aflenL. Qgflueldhene

105. Boiler feeding water having more hardness (ie) PPM high deposited
frequently removing equipment for mud, sludge, sand is
Qandlaaeflear gamentilens asgyears geatend Hsb, GCsp  wew, Uk
QeuefiGupp curdeiler Guwi

(A)

©)

(E)

Gate valve ' (B) Glopé valve

GsL. eumeay &Gemr) GuTehay

Ball valve Blow down valve

Ubgl eurdhey B GeuefliCubmib eumevey

Answer not known
eflenL Agfiwaidrene

106. The factor to be monitored until drop of pressure in the boiler 1s
Qardsaer Si(WSSD G®DUD euan] seamareantss Goudmguig

s

(€)

(®)

Water level (B) Reduce the water level
Setorawiit O L LD _ Segoremtii UL ldemoed
Suddenly stop (D) None of these

pmenti HlDisgIsw agia|b Gadanw

Answer not known
eflen Qgflweildeans
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107. The liquid in the high pressure impulse line exerts a constant

2 wif s o hgeilles aflaslld odaer dgeud Heewwrear

Qegubgising.

(A) Velocity
Geuslb

(C) Density
SIS

(E) Answer not known
silenL @gflwalierene

108.

The press-ure differential will reach its
liquid surface is at the datum level

(B) Viscosity
LTSS 6menLo

value when the

Srer Copuriy grey wlLgdd @mé@h Gurgy Siwss Campur® e

wlliemu e (Hib.
(A) Minimum
GSODHS
(C) Zero
LpsQuILDd
(E) Answer not known
allenL Ggflwefdoena
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109.

- 110.

Drum water level is better measured by
Qandlawen b BiolLib @ser epaid Apliurs emefl LuBHpg.

(A) Level transmitter
Fleney g rresevLsll LT

(B) Pressure transmitter
S(YSS g TTesrevLsl LT

W Differential pressure transmitter
Coumiuc L 2SS v rmenavsl L

(D) Sensor

Qeeami |

(E) Answer not known
alenL Gsflwedldreney

The formation of stable foam on the evaporating surface in the boiler

drum is
Qardewer yrovld elumgnd Cuhugunisd Heowrea meT 2 (Heurssb

BGW.
(A) Priming & Foaming
e QFQIsgHIFaR ‘ Eleny GumkiEh
(C) Contamination (D) All of the above
LOM&LI(Hge0 CuCa 2_drar HamansgID

(E) Answer not known
e Qgflweildena
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111. The calorific value of slack grade Il is
eoens HCrr@H Il Ger sCaorfltls wiiiy

(A) 5500 — 5800 kcal/g (B) 4000 — 4500 kcal/g
5500 — 5800 &.5Gemf/dymd 4000 — 4500 &.sGamf/dymb

(C) 2200 — 2900 keal/g #5340 — 5940 keal/g
92200 — 2900 £.5Carfl/Syrd 5340 — 5940 &.5GemA/dymd

(E) Answer not known
aflenL Qgflweidena

112. The amount of air requiréd for the pulveriZation of 1 kg of fuel oil is
1 fiGar era@eamriien Qumgwré@EeugnHE Comeuwrer srhbler HeTey

(A) 10kg (B) 12 kg

& 14xg . (D) 16kg

(E) Answer not known
aflen Qgflweiidena

113. The boiler water level checking equipment is
Qardaaefle gamentit I Ls Hmellular Quuwit

M Gauge glass (B) Tachometer
DTG FHETET Mg Lr&Gar B L

(C) Defractro meter " (D) Pressure gauge
lq_uljén'_CSUrr S (PSS G Mg

(E) Answer not known
- eflenL Ggflwehldena
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114. The most resistive micro organism 1s
Wgab erdiliygdmer Qamam . mieamanudi

@
W

(E)

Fungus (B) Bacteria

L} (ehens umdle fwm
Algae (D) Parasites
umél L [Hewrenflaer
Answer not known

e QgMuaildvana

115. The calorific value of graphite is
T Arreeuigen sGomflsds ooy

(A)
©
(E)

27250 kd/kg (B) 32125 kJ/kg
32550 kd/kg I 32910 kd/kg

Answer not known
eflenL _Qg,lﬂu.r@ﬁld)msu

116. Effect of nitrogen is to
opLyneflern ellanare eremLig

(A)

o

©

(D)

(E)

Increase the heat

Qauiugensg sl (Hougl

Observe the heat

Qautiugens Srdsgs Caraidlpg
Decrease the heat
Qauliugeng @Gamnsdng|

None of these

@areu g ieyd G

Answer not known
aflen Qgflwcicvanew
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117. Silica carry over 1s more at pressure above
Sdsar sLgsdlanr faul s spssnd @eaundear GG mBHsors @maE

(A) 35 kg/cm? (B) 50 kg/cm?

35 £. Syrib/ Qe85 50 £. fgrn/Qs.8°
@ 28 kg/cm? (D) 60 kg/cm?

28 £). &ymb/Ge. 8 60 8. Hymb/Qs.5°

(E) Answer not known
ellenL. Gzflwaeldena
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118. Choose the right matches among the following
Spsan_auphled sflurer @amemerwd samEiGy.

(1)

(2)

(3)

@

(A)
(B)

(©

(E)

CO meter —
CO Scw

SO2 meter —
SOz S

Oz meter -
Oz 8

CO2 meter | —

CO28rn

(1) and (3) are correct -

(1) vppd (3) e

(1) and (2) are correct

(1) oppin (2) &M .

(2) and (3) are correct
(2) wpmd (3) &l
(3) and (4) are correct
(3) wpgd (4) &

Answer not known
aflen Qg Mwelcrenen

To find the quantity of carbondioxide
in flue gases

sfldeufl eumysseflch o drer aniuer el
SLEHEAVIG G B TGS SHeiTL Dl

To find the sulphur oxide quantity in
flue gases

EA AR eumysaafle o grer
SLEMAVIG T BeTaneud SerL_Hlw

FeOLIIT

To find the quantity of Oxygen in flue

gases

sflQaufl  euryssafler oeter  psaligen
SETENGUS FTL Hlw

To find the quantity of carbondioxide
in the flue gases

sf0eufl  eumysseflds  odter  smiueTanL
L E®EVIY 6T TN el i
53 451-Boiler Attendant
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119. The substance circulated through the equipment to absorb and carry
away the heat is .
2 uggamsHayarar Qeuliugens o MeraaushEnd ahisgsF QeveughEh SFHMD

Quimmer.
(A) Hot water % Cool water
& B &eaflir B
(C) Normal water (D) Pressure water
- engmyew B Sipss bt

(E) Answer not known ,
cllen Qsfluefdeanay

120. Complete the equation 4Fe(OH); + N,H, =
goarurCeL Hepey Qsws 4Fe(OH); + N,H, =

#f 4Fe(OH), +N,+4H,0 = (B) 4Fe(OH), +N,+3H,0
(C) 3Fe(OH), + N, +2H,0. (D) 2Fe(OH), + N, +4H,0

(E) Answer not known
aflen Qs flweldena

121. Effect of water mixture in fuel oil
crawrena arfummalley gemantit sliLSTOD 2 @I T@D elanaray

_(A) Affect’s steam quality
Brrefluier srb Gepuybd
% Affect’s refractory
Qerusd ewtiemuls urdagh (Refractory)

(C) Improve’s firing
arilflyer flafs@h
(D) None of these
@ amau ergieyd Baene
(E) Answer not known
ellen_ Qzflweildeana
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122,

123.

124.

125.

For one year old coal calorific loss is range between %.
@@ auLSSnE upabwrar Hledssfluier Ceutiu @iy Siatey N sh.

(A) 0.0 to 0.25% (B) 0.25 to 0.50%
W@ 0.5t01.0% (D) 1.0 to 1.5%

(E) Answer not known
aflenL Qaflwellcrensy

Indian coal’s slack grade — II calorific value is Kcal/kg.
apdu fessfar slack gpo — II Qeutiu wdiy erarug
Kcal/kg.

(A) 4340 — 5340 & 5340 — 5940
(C) 5940 — 6340 (D) 2940 — 4940

(E) Answer not known
en Gsflweiidane -

% of oxygen (0,) in furnace oil 1s

% of aumley (Oy) ieney erf@Qunmer erar@emmufe o GTang.
@A) 0.5% | | g 1.0%

©) 1.5% (D) 2.0%

(E) . Answer not known
eflen Qgflwaiicvensy

At atmospheric pressure water freezing point 1s K.
cuafledie Dipssse samartfen o aphlare ererug K.
&) -273 & +213

(C) -373 ‘ (D) +373

(E) Answer not known
eflan Gsflwelicvenen
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126. Other name of dryness fraction is

eupl g WenangHer wpQuUWIT

M Vapour quality
gpedlufen Frb

(C) Condensate quality
@eflirbrmelludier gy

(E) Answer not known
cllen Qgflwefceney

127. The T-S diagram dealt with

(Brmeilulle 2 e efl&lgb).

(B) Steam quality
Brreflude sy

(D) Pressure quality
SA(phssdlen sy

(1) The relationship with Temperature and Entropy

(i1) The relationship with Temperature and pressure

(111) The relationship with Enthalphy and Entropy

T—S UL GTaTLg| S seiLe @g,rn_rrqu_u_lgu

(1) Qautiuflenava@d, Qurgs Qeuliublenadg @ml_Gu_lu_lrrm Qgmiy

(i) Qeuvuflaessn, SWsssanEh G CGuurar QgL i
(111) e et QautiugdH@w , Awrss QauciusHen e Guuwirar Qgmiy

@ only
(1) e
(C) () and (ii) only
(1) wopd (11) W i

(E) Answer not known
aflenL QgRwuaidena
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-128.

129.

130.

Mollier diagram dealt with
GomeSlwim euenyuL b @SenL 6 QFm iy wig

(A) Temperature, Pressure
Qeutiuflena, Si(pEsLd
(B) Liquid, Vapour
Sreud, oya
(C) Pressure, Volume
DWPS5D, Gererareray
% Enthalphy, Entropy

2 anriT@euliu, Quwrggbeulium

(E) Answer not known
cllen Qg fwaidenc

The calorific value of wood is

‘wrgder Qeunin wdiiy (calorific value) eremg

(A) 45,000 kJ/kg (B) 30,000 kdJ/kg
@ 19,700 k/kg (D) 10,000 kd/kg

(E) Answer not known
allenL Ggflweilcreney

The calorific value of coal gas is
Blasaf erfleuryeilen Qeuliu UL ereTug)

¥4 21,000 - 25,000 kJ/m3
(B) 28,000 — 31,000 kJ/m?
(C) 35,000 — 40,000 kJ/m3
(D) 41,000 — 45,000 kJ/ms3

(E) Answer not known
eflenL Qgflweildena

Y
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131. The entropy can be calculated as
Qs Geutinflere @euerrm samsdLLILHADS

7 _dr
(A) ds—E (B) ds= Q
¢ ds = % (D) None of these

Beundd ergajfideana

(E) Answer not known
alen Qg flwaidena

132. The Ignition temperature of lignite 1s
upriy Hlessfuller erilleutiuflency eremLig

M 230-240°C (B) 280-320°C
() 350-420°C " (D) 450-520°C

(E) Answer not known
cdlenL QgfMwefcvena

133. The Atom weight of Oxygen is
g sedmaller igp e

A 4 (B) 8

& 16 (D) 32

(E) Answer not known
aflen QzMweldane
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134. Boyle’s Law was invented by
urdlley el @augmrad e Ny ssLILLL g

M Sir Robert Boyle (B) Henry Boyle
g prurl um@e Glamerdl umuile
(C) Sir Recnold Boyle (D) Sir Mclen Boyle
gt drsenma’ Umuled &1 Qwseer Lmuiled

(E) . Answer not known
dllen_ Gsflweferancy

135. The unit of Energy in S.I. umt is
S.1. gsb@ﬂl_l.q.a) 2 Hmedes é{a)@

(A) Watt @( Joule
1)) =)}
- (C) Joulels - _ - (D) Joule/m -
996 /ellammig 96/ HIOlL1b

(E) Answer not known
eflen Ggflwefdana

136. O3 content in atmospheric air on volume basis is
Qanererarefer ogrineLuied euefl wear e sTHiéd 2 den dallgpeier (Os2)

2{aTay
ytf 21% - - (B) 23%
(C) 30% (D) 40%

(E) Answer not known
“eflenL Qg Mlweildene
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137. A sudden fall in the barometer reading is a sign of approaching
@ urGyr Sl fer erey Qeuper srsaszsmd Felrear Gopdng

(A) Fine weather (B) Rains
gwrar sraflene DMLY
Storm (D) Cold wave
@ reuefl GThS e

(E) Answer not known
sflenL GgMwelerens

138. The energy in transit is termed as
< hoedler wrHmb @euaumrmy AepssliuBEng

(A) Mass M Heat
Hlevp Geutiud
~(C) Pressure : (D) Volume
SI(PSHD &HET ST

(E) Answer not known
clenL GzsMwalilcrane

139. A flow in which density does not remain constant during flow is
@l sdler Cung LTSS wrpTwd @ MHEGL @ @LLsSlar Quwit

(A) Incompressible flow (B) Compressible flow
H(HGSE (LPQUITS UL LD ; &(H&ESSE Fnig Wl @LUL LD

m Laminar flow (D) Turbulent flow
Gevflemi gL Lb Qanmpgefliy gl Lib

- (E) Answer not known
aflenL Qgiwelldene
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140.

141.

142.

Hysteresis of an instrument affects its

@ smefuiler aflevy ey ererug Siger ————— @i LTH&HDg.
(A) Resolution (B) Accuracy
Siorand glevedlwid
¢ Repeatability D) Zero stability
Sy GalwE dnigul Seao Lshw Hlenewd Fesranlo

(E) Answer not known
e Ggfueidena

In Boiler water level gauge glass, water level is going up and down
means - is the reason. ' |
Qarflaswaflld oiaras samamyuiidy BrvlLb gurshin Cuaw Swd b
@prdlemd) ——— STyewTid

(A) Priming (B) Surging
Qumrigge ) ' . 2WAgE )

M Foaming (D) None of these
HlaTHS5e @eneu argid @dvenew

(E) Answer not known
sllenL Qg flweildene

The replacing time period of Fusible Plug in the Boiler is
Candlsaaiia o drar 2 (HEDL sen_Uy wrHpb sred @en_Galemer

'(A) 6 months " 4 12 months
6 WIGMhIGET 12 rgrhigeT

(C) 18 months (D) 24 months
| 18 WDWISRIGSET ) | 24 DMGRISET

(E) Answer not known
aflen Qzfweildwena
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143. During hydraulic test the pressure to be with stand

hours.

Brupssd  Cerswandar Curg oyssh &omt ————  @IGHIL
sn&E Ny 55 Couar(ib.

A 1 (B) 2

¥ 3 (D) 4

(E) Answer not known
eflen QgMweiicrana

144. Before Firing Boiler Dumper should be
QErdlaEeer @WkI@GSDEG (PTUTS SHeUSEMET

(A) TFully Closed &£ Fully Open
Pperwwins epp Wewwrs S

(C) Partially Closed (D) Partially Open
urdwurs ep ' unduns S

(E) Answer not known
e GsRweiidena

145. Hot startup of a boiler idle time period is —— hours.
Qeutiu Guwss apennulie Qardsweallear @uss are wenfl G
@) 1-5 & 6-10
Gy 11-15 ' (D) 16 =20

(E) Answer not known
affer QsMweildena
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146. In Warming up a Boiler the temperature is increased
Qardawmear sumiuSEDL Curg Siger Geutiuflene e wiTauTears)

147.

148.

Q{ uniformly and gradually

eCr wrdflurseyw, yraab @mes Couamm(d b

(B) first slowly and then rapidly

wseller Awgeursa|b Werant allenyourseib G(hés Geudsm(hib

(C) first rapidly and then slowly

- wedle Meraunseayb Geatar Gugeaursayh §mes Geuam@b

(D) sudden raise
HeQrer 2 wireursajb @més GousrHibd

(E) Answer not known
clen. Qzfluaicdene

After completion of test the pressure drop rate should not be more

than ————KSC/minute. - )
(S&rrg,mm WPlbs é]g)@ S(WPSHLD aﬁ@&eﬂ cHldlzid @g,,m@m agc,la;mns; @@a;a;a;
Fal_Tg

@) 3 1

) 2 D) 4

(E) Answer not known
aflen GgRweildena

Hydro test must be carried out
working pressure.

sfsure Coaumw owsssHe ©BF Cergener
GupsrarariuL. Geudn®ib.

@) 2 15
(C) 25 (D) 3

(E) Answer not known
der GQgRweildvene
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149. The device used to control the flow of air or gases is
STHN g eurydsaien @l Lseos sLHUuuBss Lweau@d FTgarb

(A) Dry pipe separator (B) Carry over

2 o @emi GfGumer ahsg QFoeigd
(C) Baffles & Damper

sHUL ST &56

(E) Answer not known
aflen Ggflweildenew

150. The chloride value of DM water is
Querrenwowiren Bllen @Germeany®H iaTey

(A) 1 ppm (B) 2 ppm
(C) 5ppm & 0ppm

(E) Answer not known
cflenL Qgflweldeana

151. Proper sizing of steam pipe line helping in minimizing
Bymefl  @reaw  sfwrer  emey CaiblsHuuger aped  erg  (Ganpuwl

2.gaidlng?

(A) Steam requirement @ Pressure drop
Borailesr Gganeu SI(PSBD pFs)

(C) Teniperature drop (D) Boiler efficiency
Qautiuflena eSip&Fé Qandlaeer Speir

(E) Answer not known
aflen @zflueiidana
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152. Boiler stays are used to
Qardlsaear uGL aghars e LGUTsHILESSUURHDS ?

W Prevent flat surfaces under pressure from tearing apart
S(PSsd EnerTons HPbg S uwing WM SATLUSHETE
(B) Take care of failure in shear
Qeul(® ghubeuans sellttiLghsrs
(C) Take care of failure in compression
FH&SD srfamors Csroel ghuBaums seliiushHans
(D) Provide support for boiler
QerdlaoansE Yarans @mUUgsHETs

(E) . Answer not known
v Gzflweildene

153. The ratio of heat utilised to produce steam and the heat liberated in

furnace is known as _ _ )
Brneflenw o @ més vweaTURSSLUGDL Geuliub bHMIL 2 mawlld GHHS
QeueflGuppruin Qeurinbd S ErarHsEn o erer ellflgn
(A) Boiler evaporative capacity

Qardaswen gefwnsed $mer
(B) Factor of evaporation

<gelungea smyent]

(C) Equivalent evaporation
Forel g,ellursd

M Boiler efficiency
Qanflasaer Smer

(E) Answer not known
: ellen GgMweiidene
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154. The fuel needs maximum amount of excess air for complete

combustion
ahgs erfQummmer pewwns erfleusig Hsugwurer stHeop dhHdss
QamargsLd
(A) Furnace oil (B) Natural gas
2 M TR @Qupens erfleumuyy
(C) Pulverised coal ﬂ) Wood
gretnéasiuc L Hlesast LD

(E) Answer not known
dflenL Qzflweierensy

155. To increase the heat transfer capability in a fire tube boiler by

Increasing
& eumu dsrflsaaflilar Qeautiu uflorhp Hpmer fsfss ams dsiss
Qetiw Gauam(iib ? .

(A) Diameter of tubes
@wriuler el L
Number of tube passes
Gl &Lbg Cewdlp earantlsans
(C) Thinner-walled tubes
Quodvellw geuir &L
(D) Boiler feed water temperature
Aarflawads@er Gaogib saratiler Qeuliub

(E) Answer not known
eflanL Qsflweidana
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156. Incomplete combustion can be best judged by
wpevwbd erfluenu ereucurmy sl Hleug) ?

(A) smoky chimney exit
yenaGursdluier oids yaa deuslCumieug

(B) Excess air in flue gas
ssUgneumyeiley ifla arpm o_eter QGumpg

: M measuring carbon mono-oxide in flue gas
sUheumyeiidh smruen GCurarnsans(h eTenel SeTellHeug e

(D) measuring temperature of flue gas at exit of furnace
ssLiggpeumieilen Qéutiuflenavenws siavefl(Heugmed

(E) Answer not known
eflen Agfweiidana

157. One Kilowatt - hour energy is equivalent to
" HGameurt werfl Gy B Hmd THMHE FoTETF ?

(&) 1000J (B) 360 kd
1000 sgee 360 ACam grd
3600 kdJ (D) 3600 kW/sec
3600 ACar ggod - 3600 SCwmeur/ellarmg

(E) Answer not known
aflenL Qaflweildena
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158. One kg of steam contains 0.4 kg of water vapour. It’s dryness
fraction is

em HCar Srrefluie (steam) 0.4 AGar Hrmell (water vapour) @mésib.
@ser cupl_d Aémamb ereucueaTeUTS @) (HESLD ?

N 04 (B) 0.6

(C) 0.4/0.6 (D) 0.4% 0.6

(E) Answer not known
eflenL Qsflweicvens

159. To avoid condensation loss in steam
Brrell gamentyrs wrpb Gy sellids

(A) steam is heated to saturation temperature
yils QeutiublanavéE Brreilenu GeusLpHsgeug

(B)  wet steam is used
e Brreflenws LiieTUBSS gl

(C) steam pressure is increased
Borefliar Siwsssms Sfaubssiag

M super heated steam is used
GLmssiuc L Brreflenw Lwetu@Sgieug

(E) Answer not known
cllenL. Qzflwalicrens
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160.

161.

Gradually increasing temperature of flue gases at inlet to chimney
from given steam outputs is an indication of

QeuafliGump  Borellenws Hevoowrs @Q@m&s, URGLGUWTE SUEE  euryeder
Geutiuflanay ifawreug) ereien ybl@M 2

(A) Higher effectiveness of Boiler
Qardlawmeafler 2w Qewddner

(B) High calorific value of fuel being burnt
o wit Geanflg waiy erf@ummener erfliLgarme -

M Fouling of heat transfer surfaces
- Qeutiu uflbrhp LEHGD, sanDLIKGSHD

(D) Raising of steam temperature -
BSrreiiufer Qeutinflanenw 2 wWiTdgeugme

(E) Answer not known
eflenL Qgflweiidena

Regenerators utilizing waste heat are widely used in
afeamm@ Qeuliusems LweTuBRSSHD BEnmaunsd flswrs LwsTu@b @b

(A) cement industry (B) pulp and paper
AGwarr Qsmflharenc g WOHMID &Télg Agmlhsrame
M glass melting furnaces (D) aluminium industry
SERTERTTIG. 2 (F&EGLD 2 EVSHET g blaiiug Qzmihsrene
(E) Answer not known
ellenL Qg flweildena
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162. For every 22°C reduction in flue gas temperature by passing
through an economiser saving of fuel in boiler.
@@ Sssansauafiier euflurst umuyb serd eumuyelier Geuliublena geu@eumn(
pep 22° Qsaflua @apyw Curgy Gsrdsoaid erfl@urmar Callé@n

s5eigId GTETLIg
P 1% (B) 2%
(G 5% (D) 10%

(E) Answer not known
edenL Gsflweidene

163. Pressurised FBC system mainiy used in __ industries.
<iwss eaens FBC wiemwuy Qurgears Qacuamsunar Gsrdpsrerwsaio
vwerLBEDng. |
(A) Chemical , (B) Electro-Mechanical

@ rerwuenTid ’ Wenarem @uwibdlrefuicd
(C) Electronics m Electrical power
LBl chramam ailuwich WlerFmy s&

(E) Answer not known
adlen Qgflwuefdane

164. can be provided to utilize the flue gas heat for
preheating the boiler feed water. . _
Qamdlawer sar’ L Feoy @pednl gCu GLTEES Cameuwirer e STHem
auPBIGuSHE Qg vweauGdns.

(A) Evaporator M Economiser
eNunss ' Hésans seer
(C) Condenser (D) Compressor
Brrell &4 D (PSSSQ T

(E) Answer not known
oSl Ggflweildrena
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165.

166.

The number of equipments used in the burner
erarenmi erflé@gd @irigaller LwaTLRSSILEHD sreamsala aaraisams

4 3 4
(C) 5 D) 1

(E) Answer not known
eflen QgMweildbena

The heat pipe heat recovery systems are capable of operating at
315°C with heat recovery capability.

315° Qevdlusv Qaitiufewsd 265 Gl Gomia Oeiu By,
siepwider Qeutiu BLys Hmer earelled @rés Couampib.

(A) 20% to 30% (B) 30% to 40%

20% qpser 30% eueny 30% qpageé 40% eueny
(©)  10% to 50% . g 60% to 80%

10% apser 50% eueny 60% qpsa 80% ey

(E) Answer not known
eflenL GgMwelidena
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167. Travelling chain grate stoker boiler operating condition
Travelling chain grate éwGLréai boller Quiign Hee

(A) Sprocket wheel moving
vlrr&dal 687 QuESD

(B) Chain with conveyor-grate moving
grifledl, senGauwr, eriu@iens BsTeug

(C) Bed with airbox-moving
eflu@ens LHMID sTHH QUL iy BHTeg)

w Chain with conveyor, fuel in grate moving
siudledl sarGouwt erflu@aens wHYD erflCumwHeT BaTeug

(E) Answer not known
eflenL Az flweldens

168. The quality of heat is gaseous and liquid effluents leaving process is
aumy whmd fres sfleyseier Qeutingder srn CaualCupin Gewdupen

GTEITLIG)

(A) high grade M poor
2 Wt Sy CGurgwrang

(C) low grade ' (D) medium grade
G®DES SNb shBoe sib

(E) Answer not known
_ ellenL_ Qg,rﬂu_laﬂd)@f)m
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169. Economizer in boiler is used to extract heat from flue gases for
pre heating.

Economizer - Qarfswalle easgmoru - Qauuses adsiss
Bpeuu’ Herarg ?

(B) Blow down
QauaflGubm it
(C) Fueloil
' erf@ummeT eTahrlan i
.(D) Air for combustion of fuel
eR@ummer GCaameuwinear smbhm erfleughés,

(E) Answer not known
cllenL. Qgflweildens

170. During the operation of petrol defining the gas will be
QuLBrrelw erpd@b Gurg el sEGb euru ereLig)

(A) Ozone gas (B) Helium gas
@Gamen aumy afelluib aimy
| M Natural gas | (D) None of these
@uihens eumu) @aneu eTgIe|d @ene

(E) Answer not known
cflenL Qzflweicorancy
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171. The heart of the Lamont Boiler is
Lamont Qardlsaeaiies @gwb ererug)

(A) Water Drum @f Centrifugal pump
seenti Gamuueny W &, LibL

(C) Furnace (D) Blow down
Sy S QeuafiGuipmid

(E) Answer not known
eflen Qzflweldene

. 172, The maximum Capacity of Bensor boiler is
Queéner Asrdlswafler ofsul s Qandrare) ererig)

(A) 180 tonnes/hr and above

180 L& /wenfl LHDID 5HE Cogid
% 135 tonnes/hr and above

135 L /wenfl LHMID S HE Cogud
(C) 250 tonnes/hr and above

250 Leir [wenfl wHmb Hz5HE Cogylb
(D) 300 tonnes/hr and above

300 Len /wenfl wHmd izHE$ Cogud

(E) Answer not known
cllen Gz flwaidena
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173. Size of boiler tubes is specified by its '
Qardlaeen @pmisefler oarey erarug @euaurm @Ol Lu@GEpg 2
(A) Mean diameter and thickness
gymefl el wHHD SlgLoer
(B) Inside diameter and thickness
2 ¢TyD &l L 1D HMID Fig o6
% Outside diameter and thickness
Qeuafiiigm e L tb wHMID Sigoen
(D) Outside diameter alone
' Gevefliiym e L G

. (E) Answer not known
eflen @sflweiicvenay

174. The Biggest size of thermal power plant operating in India is
@pdureied QuuAs Qemargméed Wsuduiiu e B Hoaussearn

Siema
(A) 100 MW (B) 210 MW

100 Gwsreur 210 @wsmeum_
© 350 MW & 500 MW

350 Gwsmeum’_ : 500 GwsmeumL-

(E) Answer not known
allenL @gflweildvena

175. The Diameter of Cornish Boiler is of the order of
smiefley Qardawailen el b @bs eflensulid @(me@D

W 1-2m : (B) 1.5-2.5m
1-2 8cn 1.5-2.5 S

C) 2-3m (D) 25-3.6m

: 2-3 8L ' 2.5 - 3.5 BULr

(E) Answer not known
aflenL GgMwaiereney
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176. The function of Injector used in small capacity of Boiler is to
Qandswais o Hegusdulen LwuaTUTE eTaTLS

(A) Create vacuum
QeuphLseng 2 (HeuTss

(B) Inject chemical solution in feed pump
Qequsg ublbd @rerue swamauau 2 L Fsgusns

W Pump water, similar to boiler feed pump _
Qardlaaer Qeaiss Lbllaen GuranGp semantar CeasHL
(D) None of these
Cupsarsupba eageblaoama

(E) Answer not known
eflenL Qgfwefdane

177. A Boiler in India should confirm to safety regulation of
@idwrelle  Gardaswet urgsTLy  @UWRIEG wepew  Qeudu®égn

B|ENLDLIL
&) IBS & 1BR
(©) ASTM (D) DIN

(E) Answer not known
cilen. Qgflwelwana
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178.

179.

Cochran Boiler is a

Cansyrer Qardawen eremLg

(A) Horizontal Fire Tube Boiler
fenLw L siand@Lmil Qsrdases

(B) Horizontal Water Tube Boiler

SenLw L Fré@mi Qardaees

(C) Vertical Water Tube Boiler
Qerigsg bis@wpmi Qerdswar

M Vertical Fire Tube Boiler

Qeri@sg bl dardaawer

(E) Answer not known
efilenL Qgflwellcreney

Boiler 1s also called as

Qenglaoe aarug @Uugub Si@pssiu@id

(i) Steam generator
el WBlemaflwiih

(i1)) Steam condensor
Byredl WOerCasd]

(111) Heat exchanger
Brrell Qeutiu udwrh

# @) only
(i) L @EWw
(C) (@) and (ii) only
(1) wpmb (1) w b

(E) Answer not known
efenL. Qsfuweiidvena
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(B) () and (iii) only
(1) wppw (i1) wLE!

(D) (ii) and (ii) only
(i) wHpb (111) we Hn
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180. In the term of boiler ASME stands for
Qardsewafids ASME ererugen edlifleungasid

(A) Armanian Society of Mechanical Engineers
(B) African Society of Mechanical Engineers
w American Society of Mechanical Engineers
(D) Asian Society of Mechanical Engineers

(E) Answer not known
elenL Qgfuwielevana

181. Suitable boiler feed water pump is
Gsrfswaiieo SCrpmusHE Aurmsswrer LD

(A) Single stage & Multi stage
@(n Hleve _ U Hlane .
(C) Both (A) and (B) (D) None of these

(A) wimo (B) @renpw sebgeme Ty @

(E) Answer not known
sflenL QzRwelcdena

182. In steam separator condensate water passing collection in
Srrefl Afluurefiid el Bi ermig Ceafssiin@w 2

Y0 Bottom ' (B) Outside
&G GleuallGuwi
(C) Both (A) and (B) (D) None of these
swwrs (A) wpmibd (B) - agleyb @y

(E) Answer not known
silen_ Ggflwaldena
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183. Maximum percentage of ASH in coat
Blesafludled 2 erer ofsul g smbieler FSGIGD

A) 0to5% (B) 50 to 60%
7 20t050% (D) 60 to 70%

(E) Answer not known
elen Agfiweildane

184. Requirement of steam trap is
- Bomeil Qundlaatlen euflub eremag

(A) To stop-steam . (B) To reheat steam
Errellenw sHGs EBrrellenw LY GLTEE
(C)y To reduce steam flow ‘(Bf To avoid water hammer

Srrellenw QU LSns GONEs samentT gy selisHe

(E) Answer not known .
aflen @z fweildenen

185. The function of ball float trap is
Bgemeult Lbg Brreflu@Qurdluier @ussnd eremug)

(A) While ball rise down (B) While ball rise middle |
Ubgl S eubHe e Lbgt BO Hewlld abgse| e
ﬂ While ball rise up (D) None of these
Ubgl 2. WITESe L6 ° ‘@Hd agieyd @dame

(E) Answer not known
aflenL @gflweioens
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186. The type of blower used in Ash removing system
FHDUD SOHMID S®LUEH LLGTLHSSLILHD Loas &M sish

‘Qﬁ Soot blower (B) Compressor
&L YGermuim SN e
(C) Vacuum cleaner (D) None of these
Coussd fefart @euphlé ergiayb @eene

(E) Answer not known
cilenL Qgflweleens

187. Match the following :
sflurs Qummsseyb :

In coal burned boilers the steam pressure required to remove the
Ash will be

Basafl alsgn OAsrdfsadasaid ymasafl Sisppd Gelwuyw  Gumg
Caameuliufmbd prreiluiien oipssb Qeueumm @ mes GouarmHib:

(a) Pulverised coal 1. 8-10Bar

udeuagev® Hlodsi 8—10 uirrr
(b) Spreader stoker 2. 10 Bar
avlbg evCLrdst 10 unr
(¢) Underfeed stoker 3. 5-7 Bar
S mSE vGLmési 5— T uni
(d) Soot blower 4, 6-—T7Bar
. Gl L{GGTITUJI’I" 6 — 7 unmt

@ (b (© @

W3 4 1 2
B 2 4 1 3
© 4 2 1 3
™1 4 3 2

(E) Answer not known
eflen @sflwefdane
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188.

189.

- 190.

Forced draught system is called

elangs aMHEMIL L Sepidrient

(A) Balanced draught

swblenad arHGomi_Lb

(C) Negative draught

ardlifwenpsd &sTHCHILL b

(E) Answer not known
eflen Qg Mwaiidensy

In F.D. fan the F.D stands for

F.D fan-& F.D aaug @soas @As8ns.

(A) Fin Draft
ghuy arpCpm_Lib
(C) Focal Draft
@ellu srHCprC_LIb

(E) Answer not known
cflen Ggilweildene

& FaDI6UIT.

M Positive draught

Cproens smHCmmi_Lib

(D) Zero draught

s srHGomLib

Forced Draft

eleng srHGoM_L b

(D) Fine Draft -

e sTHCHTLL b

In Boiler fan system the P.A.F stands for
Qsrdasoear smHCom L siewindded P.AF aauger oitgsn

(A) Pre Air Fan
- qpetr srHmy SN -

(C) Preserve Air Fan
umg&ETSSD &romy AN

(E) Answer not known
eflenL Agflweildens
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(B) Preventive Air Fan

wper sHLY sHm A

M Primary Air Fan

pseeno srHm &M
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191. The function of FD Fan in Boiler 1s
Qardsaafles FD Fan Qewdur@asr ererg

W To provide combustion air for Boiler
afleugi@ Coesuwrar smpileer dardawafier Aeqiss Geuast(Hib

(B) To provide conduction air for Boiler
Qerdlaoeaid arhean sLsgeushE LuaTURS DS

(C) To provide compression air for Boiler
SWssULL L srpgy Gardawaiid QFgiss

(D) None of the above '
@eupihled ergahd @édvene

(E) Answer not known
allenL Qzflwelievena

192. Steam separators mainly classified into : types.
brrefl AN&GD smeiladr arsgamen cumawnsl ANssLLEEDS ?

3 B) 6

(A)
M 4 (D) 5

(E) Answer not known
eflenL Qsflweldena

193, The expansion traps working based on _
el fleuen b Qumdl Qungicurs EQsemgliLienuid @uikiESns.

(A) Change in Time (B) Change in Pressure
 LOTQID STD WLTMID HH(PSSLD
M Change in Temperature (D) None of these

wrmib Qeitiuflena Qeundled argieydlevene

(E) Answer not known
eflen Qg Mlwsiicrenc
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194. An Economiser in a Boiler
Gandsaaiice Assarssasdear Caae

(A)
(B)
©)

)

(E)

Increases steam pressure
Brrefl Sisssos Sifsfsdns

Increases life of Boiler
Qandaswefar g uamer sifafsfns)

Increases steam flow
Srrelilty Cursdlenar wiflsfsdpng

Decreases fuel consumption
af@unrmer msietlanens Gmpnédns

Answer not known
eflen Qg flwefcreney

195. Reason for super heater tubes burst
Bl Qéutiu gndls@pnl Geug sae

(B)

(©)

D)

(E)

Required steam is not passing
Caeeuwner Hyrell Grdarg STTETSSMD

Required steam is passing
Cseneuwmar Brmell dedeugmed

Water is passing
setmenti QFdeugme

None of these .
@eupdldd ergialb @edrene

Answer not known
eflenL Ggflueidena
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196. Reason for super heated steam suddenly high
i@ 2 ifrmell Qeutinfleney Sebyar o LTé sTraTREGET

(A) Low breather air
WBl&as Gepeurer 2 ufls srpm
M Low temperature of water
Was @&onps sement i GeuliLblana
(C) Primary combustion
ws® flevaw erflzea
(D) Correct functions of temperature gauges

Qeutiuflenvenws 2 amiidgb sellsafien #flurer @uasid

(E) .Answer not known
alenL. Qgflweldrana

197. In coal burned boiler if the percentage of sulphur is 1% the flue gas
temperature will be

Possil afisgn dsrsoasaila af@urmelia 1% spgen @mbsnd oisen
safl@eufl eumysseflen Qeuliuflena siatay

yﬂ 155° — 165°C (B) 145°— 155°C
©)  175°—185°C (D) 185°— 195°C

(E) Answer not known
sllen @gflwaildens

198. The diameter of the economiser pipe will be
Sesans svaflan @i searey

(A) 10to 20 mm’ ' 6 20 to 30 mm

10 mm @sé 20 mm auey 20 mm @psé 30 mm eueny
(C) 40to 50 mm (D) 50 to 60 mm

40 mm @pazd 50 mm euery 50 mm s 60 mm ey

(E) Answer not known
eflenL Qzflweferenc
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199.

200.

Generally air pre heater classified into types.

sTHm Geulil SeeT TESMmaT aUanSLILHID ?
A 4 @ 5
€ 3 (D) 2

(E) Answer not known
cllen GgRweidene

The necessity of safety valve in economiser

fsaens swsder sy eurde| GCeaneuwi?

(A) Not necessity @ Necessity
Caeneuuliicvana Gaaneu

(C) Both (A) and (B) (D) None of these
(A) wpmw (B)ulié 2 drereump) @aveu ergia|h Bdenw

(E) Answer not known
cllenL Qg ilweilerency
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